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| Pwllwght gnpéwnbimpyul mbuwln | Uwiljughtp |

1.1

<wyh pugntd b uyywuwpynug !

0 &< npwid

1.2| {Qwdwfunpnh hwyhyGliph Guquqgny6 SGugnpny *
e hpwywpwlwyuwb widwbg? 15 000 << npwd
(Quu npw G hwdwpdtp wpmwnpdnp)
e wihww dtinGupyuwwmbtptph pninp hwphyGtph hwdwnp 5000 << npud
(Quu npw G hwdwpdtp wpmwnpdnip)
1.3| <Qwpyhg pwnwoph, YdwpwjhlG wy thwumwpnph Jud wnwlg hw)yh 0 << npoud
Juunwnpjwo qnpownppltph  Ybpwpbpuwy)  thwunwpnph  wmpuwdwnpnud
Jnipwpwlsjnip gnpownpphg htivan
1.4| Qwpyhg punuoph ud wy thwumwpnph (nbntlwlph) mpudwnpond
EtyunpnGuwjhG thnunh, wpuh jud hwnnppuygnipjuG wy thong Gpny
(Ghpunjuy UUL)
o <L nmwpwopnid 500 << npud
o << mwpwophg nnipu 500 << npud+yjuwuh Jupd
L5| Qwpdhg (wm pynd’ Juplujhl hwpyhg) pwnywoph, qdwpwihl wyp
thwunwpnph Juwd wnwlg hwyh junmwpgwo gqnpowppltiph Ytpuptipyuy
thwunmwpnph YpYGophGuyh mpuwdwunpmd’ pun gnpownpph Juntimpjub
(Gbpunyuy UUL)
o UhGsL 1 mwph JunbdnpymG niGtgng dwdwGwwhwnywoh hwdwp 2 000 << npud
o 1-hg 3 mwph yuntidmpiniG niGignn dwdwGwjuwhwnywoh hwiwp 5000 << npud
e 3-hg 5 mwph Juntinipynil niGtgnn dwiwlwljwhwnwoh hwiwp 10 000 << npud
1.6| <wgyh, hwadh duwgnpnh, hwyny Ywd wnwug hwayh Yunwpywd
gnpdwnputiph Yybpwptipjw) wbnGywuph npwdwnpnd Pwulyh nnwpwdpnid,
EiEyuinpnuwghu thnuinh, hunbipubin/dnpw)) pwuyhug hwdwlwnpgh dhongny
(ubipwnyu UUL)'
e huwjtipkG 1kqyny 1 000 << npud
o nniubipkiG Yuwd wqitipkl gniGtpny 2 500 << npud
1.7| Cwygh, hwayny Ywd wnwug hwayh Yuwnwpwsd gnpdwppubinh ytpwpbinjwy 1.6 uwlwaght + thnunwht dwnwjnipjwu Ydwn
wnbinywupubiph/mbntywwnyniyejwu inpwdwnpnud Pnunny (Ubpwnyu UUL)
1.8| PwlywjhG hwpyh Ytpwptipjuy mbtintuph L SWIFT hwnnprpugpmipjub 1 000 << npuni
wuwwndhlGh npwiwnpmy (Gepunju GUL)
1.9| Uty mwpjw plpwgpnid gnpownlnipyniG shpuwwlwugpwo hwpyh

wwhwywlnd b uuyuuwpynus®

e wihww dtinGuwpyuumbptph hwiwnp

hwyh dGwgnpnh swhny' wnwybjugnyyGp 1 500 << gpund

e hpwjwpwlwyuwl widwlg hwdiwnp

hwpyh dGwgnpnh swihny' wnwybjugnyyGp 5 000 XL
npwy

LQuytpGlsuywl (wninhunpuwl) hwpgdiwl yuumwujuwGabph
(ntintwpiiph) ywwnpwunnd b npudwgpnd (Gepunjwy GUL)!

10 000 << npud

{wpyh opwlwl WGwgnpnh Guwniwdp Yhpwnynn mwpbiuwl
wunynuwnpniph swthp (Untnwygwd nnynuwgnidwplpp yawpynd GG
wiuwuwl yupptpwywlnipjudp® jnipupwlsnip wiujw Ytpohl opn)

o < npuinyg hwphyGhph hwdwn /pugunnipjudp POS mbpdhGuiGhph
uywuwnpyiwl Guywwwyny pugywd hwohyGtph/

1%

o < npuiny’ POS wmbtpdhGuyGtph vyyuuwpyiwb Guyuunwyny pugdud
hwphyGtph hwdiwp

0%

e wpuuwpdnypny hwhyGtph hwdwp /Gepunju) POS wtpdhGwGtph
uywuwnpyiwl Guyuwwwyny pugywd hwohyGhph/

0%

o Jawpwhwyuwpyujhl yuqiwytpympnGitph hwdwp pugynn
JawpwhG hwnny hwhyGhph hwdwnp

0%

1.12

Euppnnt hwiphyGtipny gnpownGmpniGGtp.

e wlipwnd qnyph gnpowppGtinh hwdwn

hw)yhG dmwunpwgpynn gnidwph 0.1%, Guquqni) ﬁp‘ 20 000 <<
nnud, wnwybjuqn ﬁp‘ 100 000 << npud

e Jwpdwlwl qnyph gnpdwppltph hwiwnp

hw)yhG dmwunpwgpynn gnidwph 0.3%, Guquqni) ﬁp‘ 15000 <<
npud, umwt{hlwqmjﬁp‘ 50 000 << npud

1.13

Lwpyh thwlnud

0 &< npwd

L Unyt wwipuwahtp sh Gbpuminud prpuslguip, wpdtpnpbph uy il

2

11167

plpwighly hupnGhph Ghunndwdp:

Gpli 1

h r 1. 1/
/s

200,000 <‘<‘ quu" (l]wu" ppwl hwdwpdbp wpuwpdngp), hulp welanpughl Fpguphlq (POS

nluyn,jupluygfl, pu

yhl L un jhl huppyGhph vwwmwpldwl hwdwnp pugyuo

ipwlwlpuw G wldh mbopklp Lipwd 10% L wijlbph pudGhdwu mlbgng ubl[lwl{wﬁwmbﬁy ns nbghnbGm F, wuyw ufjwy wwlpughlp uwhidwbynif b

Lrt.

wpunupdnyp):

Uwlpughln fhpwndmd b, bpl <wdowfunpph wlniGng Pwllings pugduwo popnp hwphyGhpny 0kl mupgw plpugpmd npll gnpo

) ilaqunplyne plagpnid® 550,000 << ppund (Guad ppul hudwpdbp

ipynili sh ppuly

gty L bpl <wpyp/Glphg

nplfigh Jaih ypw wniw F gmuluwl dGwgnpn: <wdwfunpph winlGnyg dGihg wibih huppyGaph weiuynipjul phypnd wwlpughln quiGdymd b jmpup wiisinp hwpih hwdwn
wnwldhl-wnwGdhl, hul nplihgh hwyyht dGwgnpnh puguluymppul phypnid, iy hwpdh wwhywGdwd hwdwnp vwlpughln quiGdymd F <wdwfunpnph puGhnd pugyfuo
wyy huwphyjGhphg: UngyG Glnp sh Jbpupbpgdnid << -LO vwhdwljwo 50.1 qifuny Gwfuunnbuywo hunnndy hupGhphG:



1.14| Qpuiwyuwi stiwyhG gppnyyGiph mpuwdwnpnui(Gipunjw; UUL) 2500 X< npud
1.15| QwphyGbph pwupdh yipwpbipju SMS ownw jnipniG

1.15.1| Swpwjnipjul shugnid® hwdwdw)l hwdwfunpgh nhintdh (Ghpunjuw; UUL) 0 << npud
1.15.2| Swnwjnipjwl nwpbwb ydwp (Gipunju UUL)
e ntighntiGn hwdwunpnltph hwdiwp 2 500 << npud
e 1ny nighnptinn hwdwunpnGbph hwdwnp 5000 << npud
1.16 | Gwnnigwuywwnnh hwphyGtipny gnpownGmpniGGtp
{wyyh pwgnud 100.000 << npuni
{wpyh GuqugniyG sGugnpn 0 X< npud
{wpyh uyuuwpynid 0 << gpud
{wpyh thwynud 0 X< npud

{wyh opwywl dGwgnpnh Guwndwdp Jhpwnynn mwptywl

wnnynuwnpnijph swihp b ydwpiwl dudiybn Gt Muyiwwgpuyha

1.22.1| {<wpyh wpdnipp Nulh 999.9 hwpgh

1.22.2| {uipyp pwgnid b uyyuwuwpynud 1 500 X< npud

1.22.3| {wpyp thwlynud 0 X< npud

1.22.4| {wpyh Gyuqugni)l WGwugnpnp 0 qpud

1.22.5| {<wipyny gnpdwpph GuqugniyG swthp 1 gpwd

1.22.6| Nuynt juwGhupy dmumpwgpmd L Gipwgpnid sh hpwlwlGwgynid

1.22.7 Pwlilhg wilwGiuhy nuyn gGns/Jwdwnp Syjwy opdw hwiwp «{USQb%Iu,;I;IiJul?SlIl;I;);l iﬁﬁl ggggﬂﬁ
1.22.8| ®nfuwlgniilbip hwypg.

- (ppwlywyhG 0 << npuni

- &< wyp pwytn L wpntpyhp 0.1%, GuquqniyGp’ 9 000 << npud, wnwytjwgniGp’ 50 000

<< ppud

1.22.9| UGYywGfuhly dnunpwgpnudGtp hwpyhG 0 << npud

1.22.10| Qwpyhl PwGyh Ynnihg hwpytignynn mnynuwnpnijp 0%

1.22.11 hwiwdw)l «AU3SLHALEULTLU» OLL Ynnihg twwmnigynn

Luwnuopltinph L mbintwlpltpnh mpudiwnpnud ownwjnipjniGGtph Uwwqltph 1.3, 1.4, 1.5, 1.6, 1.7 L. 1.8

Ytwtiph:

2. OnjumlgmubGtpn
2.1| «KLU3LPOLEULU LYY OLL huiwlwpgmy thnfuwlgnuiGtp 0 << npud
(Shotwubwsninuyhl) << npuiing b wpmwpdngpny
2.2| UhgopwGlyuwjhG thnfuwlgnidGtp’
2.2.1| X< gpuiny (KL mwpwdpnid).

w) | pwGywjhG hwyhyGtpny 0 << npud
p) | wnw@g hwyyh pugdiwd.

e thsk 25 000 << npwd 100 << npud

e 25 001-hg thGsL 100 000 << npud 200 &< npuid

e 100 001-hg dhGslL 500 000 << npud 300 &< npud

e 500 001-hg dhGslL 1 000 000 << npud 500 &< npud

® 1000001 << npu L wybph 1 000 X< npud

2.2.2| Cwuiwy (GnyyG pwGyuwyhl opguw plpwgpnid) thnfuwGgniiblip << npuning 0.1%, GQulqu,lquﬁn‘ 500 << npu,

(XL mwpwopnd) wnwL[hlwqm]ﬁ]g‘ 5000 << npud

2.2.3| X< npuwiwghl hnfuwGgdw wwjdwiGbph thnthnfunip G, wjn pynud’
thnjuwGgiwi stnjw) hwdwpnud
e <& npuinyg 1500 << npwd
2.2.4| Unmwpdnmpwjhl thnfuwGgmiGbn
2.2.4.1 | X< nwpwophg nnipu
w) | Guwpmnd®
e UU'L nnjupny, Gypnjny L wj] wqun thnfuwpybijh wpnwpdnpny*

«BEN»’ nuwpptipuyny 0.15%, GuquqgniyGn’ 3 000 << npud, wnwybjugneyGp' 30 000
<< gnud

«OUR» ¢ mwpptipuyny 0.15%, GJuqugniyGp® 7 500 << npuid, wnwytjugnyyGp'
50 000 << npuid
«G-OUR» 7 mwpptpuwyny (Shwyl GU'L nnjupny) «OURy» wmwppbipuy + 10 000 << npuud

e (1} nnipiny

UhwjlG «OUR» wmwpptipulny 0.1%, GJuqugnyGp 3 000 << npud, wnwybpugnyyGp' 30 000
<< gnud

P)| Juumuwpjud thnfumbgiwb’

QUL muipny, Gypnjny L wj wquwn thnfuwpybih wpmwpdnpny
e qniiwnh Ytipwnupd Qwhwnnth hwdwéw)Gnipjudp
e wuwytwdbtph thnthnfunip i@ 25 000 << npuid
e npnlintd
Y nnipny
o gnuiwnh Ybpwnupd pwhwnnth hwdwdw)Gnipjudp 5000 << npud
o yuwjdwGGtph thnthnfunipyniG
o npnlnid

)| sqwwwpjwo hnfuwligiwb'

o stinjwy hwiwpnul 0 << npud
2.2.4.2| XL niwpwopnid
o UUL nnjwipny L Gypnyny << UL shengny 0.1%, GwquqniGp 5 000 << o, wnwybiugnGp’ 20 000

<< npud
3. StjuqGiw6 Swnwympjul Yydwnplhnh pnmGnd

wjy wqunn yinfuwipybh wpuwpdnypny ginfuwGgnidltph hudwn jpugnighy quiddnud b dfiplnpy pullh Gngdhg Gaplujugywd dheGnppudwpp
“BEN” unupplbpulip Grwlwlhmd B “dholnpn pullbph dheGnpuuydwpllpp Qqudynid b6 pwhwnnpg ' ginfuwGgyng qnidwph hupyhlG”

“OUR ™ unuppbpuwlp Grwlwlynuf | “dholnpn pullbph dheGnppuydwpllpp qudynd b6 hnfuwGgdwl hpund hg L pwih hg”

G-OUR " mwppbpuwlp Grwwhnid | “dpolinpg publybph dhobnppudwpbbpp quibdymd 66 ginfuw gl hpudwlumnhg”

EECYTIEN



3.1 | SthuqGGiwG ownwjympjwl yGwpGtph plnnilnud 1 000 << npud

4. Muwhwwnympym b
4.1 | Qpwiwwywhng’
o wpdbtpGbph L thwuwmwpnpbiph h wuwh pgmGmy (Gpunju UUL) 300 << npud (opwljuwG)
e nuynt h wwh plnniGny (Ghipwnjuw) UUL)" vwjuwghlp yhpuptpynud L LwGyh 1 000 << npud (GhwGquq)
dwnywd Jupytiph nuynt gpughG

4.2| UGhwunwlwl wywhwwnmbnbp (Ghpunju UUL)
Afuuriwuw;hl Ui Mubunabgh 1 27 815 1630 3190 91-180 181270 271365
@ ‘}1‘“‘“1"1]"131“;11 ! (m“h‘ifuq’ﬁf'mhﬂ@ oo e | R | e/ | Rnpd | gemmd/ | Aot | <dmud | <& np
®npp
®npp (75x255%417,75x295x500,80x300x 13 300 000 1000 3000 5000 7000 10 000 17 000 20 000 27 000
(417x255x75) 85x205%490,85x300x500,90x280x
490, 95x280x500)
Uhght
Uhght (21;8;5233’;‘;15121; 50;:58);:22’31075; 1339 30%%%%1)' 1500 5000 7000 9000 15 000 25000 27000 32000
(417x255x257) 500.250x300x500.260x300x500,
260x300x419)
ULo
(185x545x417,470x200x490,175x 39000 001-
590x490,175x500x600,200x530x 60 000 000 2000 7000 10 000 13000 20 000 30 000 32 000 37000
(417x255x380) 500,
200x500x600,375x300x419,380x
300x500,400x300x500)
Tunynp
np 500x 300x 3000 8 000 12 000 18 000 25000 32000 35000 40 000
ot | Cmsistaeen | omon
4.3 | Muwjtwlwgph gnponnnipjwl duiytwp jpulwinig htiin wihwnwywa 500 << npud
wwhwwntinp L pwGwihG shwGdGtn nhypnd (JnipupwiGgnip npwgnuwo opyjw hwdwn)
(< Yununjwpnipjwb Ynnihg hwjnwpupjuwd wpnwlupg
nnnipjwl dwiwGwwhwnywond uwhdwlynd k0 << npuud)
4.4| UGhwwnwlwl ywhwwnbnh puGwih6 YnpgGhnt jud YGwubim nhypmyd Gnp
wlwint wpwiwgniwl Jdwp (Gepunju UUL) 20 000 << gpud
5. wqgqwithG thwumwpnpwihl qnpownGmpimab;
5.1| UhowqqwjhG hGYwunGhp
“Lipimovw (i hGyuwun
5.1.1| hGywun hwGdGwpupuyulh jud ngpu yuwjdwiitph hnthnfunpjwb 5000 22 npud
dwlinignid
5.1.2| Qwuwmwpnpwjhl hGYwunjh Gipujuguo, puwjg hwdwunpnh Ynnihg 30000 24 gpud
sYswpywo thwuwnwpnptiph htin yipunupd pnpwyhg pulytphG
5.1.3| Qwuwmwpnptiph hwGaGnd” hGwunjh Jdwpiwb jud wygtiywnh nhiwg 0.25% GywquqnyGp 35 000 << npuwd
wnwybtjwgnyyGp’ 70 000 << npud
Upmwhwliwb hGwun
5.1.4| hGywun hwGdGupuwpulwuGh pnqupynid, hGhwun thwunmwpnptiph 0.25% Gywquqgn)Gn 25 000 << npund
unnignid b wnwpnud wnwybtjugnyGn’ 100 000 X< npuid
5.1.5| hGywun hwGdGwpwpwluwlh wwjdwblbph thnthnfund® Gipunjw) Gpu 15 000 22 npud
stnju hwdwpnuip
5.2| Uh9wqquijhG thwunwpnpwihl whptnhn]Ghp
‘Lhipimodw i wyntghupy
5.2.1| Uyptnhwhyh pnpupynud’
w) | hwwhunpph ngpuiwlw b JhongGiph nhynGuwgdiwdp 0.15%, GJuqugniyln’ 45 000 X< npud
P)| wy wywhnynipjwl nhiypnud puwn jpugnighy yuwjdwGwynpjwonipjwb
522 ;ﬁu%l?]? EH?S;IZ URTL Ly ®RE prnuipud wiptmhuhh hwunwmnd w pnnunyiwG 5.2.1 vwwghG + hwunmwwumnn pwGyh vwluwghG
5.2.3| Qwuwmwpnptiph pyninid L unmgnud (Jnipupw s nip thwpbph hwdwn) 35000 << npud
UlhwiwwywnwufuwlnpniGatpny hwunmwpnptiph pnniinud yawpdwb
324 (nipupwlgynip thwpbiph hwdwn) 50000 24 npuwd
5.2.5| Uyptnhwhyh yuwjdwGGhph thnhnfunipjni 25 000 << gpud
Uyptnhnhyh htin YuGynid/shingug hwiwpnid pwhwnnth
5.2.6 huntwéwgGntp judp 25000 << npud
S . :
5.2.7| Ulypbnhuh gnudwph Ydwpnud 0.15%, Gyuqugny)Gp’ 10 000 << npud, wnuulhlwqmjﬁli 4715111 ?33
Upwwhwliwb wyptnhmnhy
5.2.8| Uyptinhwhyh jud npu ywjdwGGbph thnhnfunipjul dwinignid 25 000 << npud
5.2.9| Uyptnhwnhyh hwunmwumnid®
w)| wy pwlyh ngpuiwlwé ShongGtph nhuynlGwgdwdp 0.15%, GuquqnijGp’ 40 000 << npud
p)| wyj wywhnympjwub nhypnud puwn jpugnighy ywjdwGwynpjwonipjwl
5210 }?ulﬁilﬁ;lpl;lpnphnh plnniGnud, unnignud b nipuipynid (Jnipupw Gy nip thwpbiph 35000 22 npwd
5.2.11 | Ulyptnhmpyh wwjdwGGiph hnthnjunipymG 25 000 << npuni
5.2.12| Uyptnghwpyh htu uGsnud/sbinjuy hwiwpnod 25 000 X< npud
5.2.13 | Ulptinhwpyh thnfuwlgnud 0.2%, Guquqni)Gp 45 000 << ppud
5.3| Uhowqgquyhl AwlljuwghG tpwytuppGtin
Gpuzfuhph poquiphnud

5.3.1| &< wupwophg nnipu whwenih oqnhG pnqupljynn tpwytuhp
5.3.1.1 | wnwlg wy pwGyh dwubGuygmpml’
{Lwdwhunpnh dhongGtiph wwywhnympjw nhypnd (npudwyw thongltiph tpwfuhph gnudwph 0.5% vshwlquwq,
nhunGwgnid dwolynipwihG huwpyhl) GJwuqugniylp 30 000 npuid, wnwybjwgniylp' 250 000 << npuid
tpwfuhph gnudwph 2.5% wmwptyw
(YewpnuiGtpp' wiuwyw6), GjuqugniGp’ 40 000 << npud

=

w

p)| Uy wuywhnynipjul nhypnid

5.3.1.2| wyj pwGyh Ynqihg Gpufuhph yipuwpngupljiwdp 5.3.1.1 vwwghG + wy) pwGlh She Gnppuydwn
5.3.2| Uy pwlyh Ynnihg poqunlywd tpwyfuhph hdw6 Ypw wpudwngming Gpupjuhp*
w) Uy Pwlyh dhongGtiph wwwhnynipjul nhypmu (npuiwlwl dhonglGtph ) tpwptuhph qnuiwp[} 1.0% mwptijud
nhunGugnid dwolynipwihG hwpyhl) (YawpnuiGhpp' wiuwlw6), Gjuqugni)Gp’ 40 000 << npud
P | Uy wywhnynipjwl nhiwpnud puwn jpugnighy wywjdwGwynpjwonipjwl
GnwytuhpGbnh ppughl uwwuwnlnmd
533 Gpw)tuhph ywydwGGtph thnthnfunipyniG (Rwgunnipjudp gnidwph 15 000 22 npud

wybjugnuihg b dwiljimh tpjupwdagqnuihg)
5.3.4| Gpwppuhph Yud Gpuw ywjdwGGtph hnthnfunipjul owlnignud 15 000 << npud




Ydwpynn qnuiwnh 0.3 %, Guqugniylp’ 45 000 << npud,

5.3.5| ‘vpyuwywugywd Jdwpdwl wwhwloh puwywpwpnud wnwtywgniyGp 100 000 42 npuwd
5.3.6] {wdwjunpih yGwpiwl wwhw@oh unnignui 20 000 << npud
5.3.7| PwlywjhG tpuwphuhph uywuwpynud
w) | Unwolwlwpg wywhnyyuwonipjunip 0 << npud
p)| Uy wywhnyywonipjudp 5 000 << npud

| UhgwqquiyhtG thwunwpnpuiyhl gnpdwnGnipyn(Gph jpugnigh; ujuysmGGkn’

UhoGnpn pwGytph dhe Gnppuydwpbpp b wj) hwuwnwgh Gipuwjugyuo owfuubpp quGdynd b6 jpugnighs

"QwjphqGupw(y" ®LL-h thnunwjhG dwiuubpp quGadynud GG jpugnighy

owqqujhG pwGljwhG Gpw pGtph uwlwqlb

wnbih GG Gl MwhnunwhG wyptinhun

6. PwljuyhG bpw, itp << wwpwopmy (QuwGdnmin Juwwpymy E Thw Gjus

Stanby L/C) huiw

wwwhnyqwonipjub thongh thnthnfunipynil (Ghpunju LUL)

6.1| PwllwjhG tpwptuhph wpuwdwnpmy (pnyuplnud)’
6.1.1| UnwgGulwng wywhnyjwonipjuip gulijugwo mbkuwyh pwllhwuhl pwllywyhG hwyhG wnlw dhongGtiph wwwhnygwonpjudp’
tipwpfuhp tipwptuhph qnuiwph 0.25-0.5%, GuqugneyGp’ 20,000 << npud,
wnwybugnyGp' 1,000,000 << npud
wywlnwjihG hwyhlG wnlw dhengGtiph wwwhnygwonipjuip
tipwytuhph gnudwph 0.5-1%, GuquqntyGp’ 20,000 << npud,
wnwybjugnyGp 1,000,000 << npud
6.1.2| Cwpdwlwl L wGwnd qnyptiph qpuyny wywhnyjuwompjudp guiugud
wtuwyh pullywjhl Gpuptupp
6.1.2.1| 1-15 wdhu dwiltnny tipwptuhph gnuiwph 1-2.5%, GuquqnyGp’ 20,000 << npud
6.1.2.2| 16-48 wihu dwiltinny tipwptuhph gnuiwph 2-5%, GuquqgneyGp’ 20,000 << npud
6.1.3 | Fpwiwluwb hnuptiph, tpwfuwynpnipjub b w)p wywhnyquonipjudp
guwijugwd mtuwyh pwlywjhl tpwofuhp
6.1.3.1| 1-15 wihu duniybnny tipwptuhph qnudwph 2.5-5%, Gyuquqn)Gp’ 20,000 << npund
6.1.3.2| 16-48 wdhu duniytinny tipwtuhph gnudwph 3.5-7%, GJuquqgniyGp’ 20,000 << npud
6.2| Pwllwjhl bpwpfupph dwlnignid 22 000 X< npuni
6.3| PwlYwjhG tpwpfuhph gnponnnipjwl dwitunp tpupwagnid, Jnipupwlyynip tpupwéqynn wdujw hwdwp' tpuwuhph
wwjiwGGhph thnthnfunip jm G qnuiwph 0.1% , GYuqugniyGn’ 20,000 X< npud
6.4| Pwiyh hwiwdw)lmpjul nhypmd pwGywjihG tpw)fuhph 30 000 << npud

(Jnipuwpwlysynip wuyywhnyjuonipjub
Uhgngh thmpinfunpjub huniwp)” Epwpfupph uwljuqGh
thnthnfjudwiip

7.1

7. FpuwiwninuyhG qgnpownGnpymGGbp

- gpuwyh wopwpyuwl wnwGwlwng gpuyny thnthnfubiint nhypnid

{wdwhunpnh hupyhG Ywbfuhl shengGlph dnunpwgpnug” 8

0 << npud’ wnwlg Gpwphuhph vwlwqGh hnthnfudw G

e X< npud

0 X< npud

o UUL nnjup

0 X< npud

e wj] wquw thnfuwpltih wpnwpdnyp °

Pwlyh wiklopjw uwwughG

7.

S

{Lwdwhunpph huwpyhg Ywliuhy dhongGiph wmpudwnpnid’

o <& npwd

0.3%

e UUL nnjup

3%

e wj| wquu thnfuwpybjh wpnwpdnyp

Pwlyh wiklopjw vwlywghG

721

«ABB-OUQ £hOULEU» (wjwumwbh Udtphyjw 6 {wiwjuwpwuih
«OpthwG9yub gyninuyjuG hwiw)lplGtph qupqugiw» opwgph
powGwlyGpmd mpwdwnpynn Juplybp)

0 &< npud

722

«ABB-UQ-N» (X< Gunwyupnipjul wfuwnmwluqih «3nnuiul
nwpwopwjhl mintuwywl qupqugiw dpwgptph hpuwwlwgiwb
qpuubilyuly whnwlwl hhiGuwpyh Ynnihg hpuwlwlwgynn
wyqtignponipjul phlwbGuwynpiwb opwgnh 2pewlwl Gtipnid mpwdwnpynn
Jwnybp)

0 &< npud

723

«ABB-UQ-L1» (G jninunbunbuwlub hnuiph dpbipnudGhph (qGnuiGhph)
Guuwnuyny wgpnytipuiywliwl nnpunhl mpudwnpynn yupytiph
wnnynuwnpnypltph unipuhnuynpiwG opwqnph pewGwyGtipnid
wpwdwngpynn yuplbip)

0 &< npud

72.4

«ABB-UG-P1» (X<-nud 2019-2024 pyulubGbph wmwjwpupnonpjul
qupqugiwl Guyuwunwing mpudwnnynn yupytiph nnynuwunpnypGhph
untpuhnuynpiwl opwgnph 2pow GwlGtpnid mpwdiwnpynn yunpytin)

0 < npud

725

«ABB-UG-P1» (L &L «Fjnuiqulul nmwpwdpltiph mGmbtuwlwb
qupquqgiwl dnugptph hpwuwlwgiwb qpuubklyuy» ML GdDU-h Ynnihg
hpwywwgynn qymnuunbGumtiuntpjuwl npnpunp G mpuwdwnpynn yupytiph
untpupnpuynpiwl opwgph 2powGwyGtipnud wmpwiwngpynn Jupybp)

0 < npud

7.2.6

POS mtipdhGuih vywuwpydwl Guuwumwyny pugduo hwphyltphg
JuwGluhy vhongGtiph wmpwiwnpnid

0 &< npud

7.3

‘LwpuyhGnd JuGfuhy dnnpuwgpyuo Jubiuhy dthonglGtiph wmpwdwngpnid®

0 &< npud

7.4

QpwiwlhyGhph huympjwl hnpdwqGlnd (Gepunyuw) TUL)

o &< npud

0 < npud

e wj] wquw thnfuwplybjh wpwnwpdnijp

0.1% GJuqugnjGp’ 200 << npud

7.

W

JawpniGwynipjul hwnfuwbhGtpny hGwdw), Gupuqupniuo,
wuwwnnwd npuiwipGhpp thnfuwGuynug’

o <& npwd

0 &< npwd

* wj] wquu thnfuwpybih wpnwpdnyp

3%

7.6

UtnwnunpuilGbph hwpynud, thwpipuynpnud L htn yhpunupd

1 % GJuquqgniyGp 200 << npuad

7.7

Gufuhy dhonglGtinh mtinuihnfunid hGwuwghnb pGYytpnipjwl thongny

wwjiwlwgpuwjhG

7.8

U3LhYLEULULUD unnpupwdwiniGipnd POS mbtpdhGwGbph
thengny wyp pwGytph'® ynnshg pnnwpldwd wiwunhy pwpnbpm] jwiluhy

dhongGtph wmpwdwnpnud

8 Uywilin Gepnlbin Gyuinwlng dninpwapidng quidwpGlph | i

ok

lwqhl sh quildynid:

Y Gipnny pwpuwghl huphGEpha dninpugpyng gnidwpGbph huwdwp uwlpughl sh quddynid:

10 pypwiihg publlph hudwp )

i .
a1

oflip vwshdujnud E huduwd gl oy




o 2< npwd

1%

8.1

e wj] wquu thnfuwpybih wpnwpdnyp

8. QnpdwnlnpymGGkp wpdtpnpbnny

Lwdwlunpnh winiGhg b (Guy) hwpyhlG wpdtpnptiph wnp L Judwnp

3%

Quwldnuip yuwmwpynid £ gnpowpph wpdbtphg

8.1.1

Ninwjwl yuwpunwwundubp'

o thGsL 100 000 000 X< npud 0.05%
e 100 000 001 << npwt L wykh 0.04%
8.1.2| Uj wpdtipnpbp’ MujdwlGwgpwjhG
MNinwjuwl ywpunwwnniubph hinfuwlgnud.
o EijuipnGujhG tnuGuyny 500 << npud
e [@npwjhl knuluyny 1 000 << npud
8.2| Updtpnptph pnitywyh yipwptipjuy wtntywwmynipjwl npudwnpoud 0 << npud
9. «Puilj-<{wdwiunpn hutwmiwng (Coglulwb opwgqnpbn)
9.1 Qwiwlwnpgh wmbnunpnud 0 X< npud
9.2| Udklwdujw uyuwuwpiwl yupdwydwn
o Nhghntlwm widwlg wdbbwduyw vyyuwuwpyiwl Jupdwydwpp 8 000 << npwd
e s nighntiGun wGdwlg wwpbjwl vyuwuwpliwl Jupdwyswpp 120 000 << npud
9.3 | EjtljnpnGwihG unnpugpnipjul ghiitipugnud L mpudwnpnud 0 << npud

«bGunbtpitw pwiyhhGgy / «Unpwy; pwGhhGgy dwnwympin G

Uhwgiwl dshwijwq gnuiwp *nhnbine b gnpownppGhp hpulwGug Ghm
hGwpwynpnipjudp

e [hghntiGun L ng nighntGn hwdwunppGtphG /qunubupun 7000 << npud
qhtGtpwgnn uwpph wpwiwnpdwdp /
e [lhghntiGun L ng nighntlGn hwdwunpnGtphG /wnwlg qununiupwn 0 << npud
qtiGitpwglnn vwpph mpwiwnpdwl’ SMS hwnnppugpnipjw G thongny
qunuilwpwnp unwlwnt nhuypnid/
e [}hghntiGun L ng nighntGn hwdwlunpyltpnhG OAUTH 2.0 0 &< npud
wnpdwlwgnpnipjudp wpfuwwnnn opwgpuijhl wwywhnydiwl thengny
qunuGwpwnp unnwluynt nhypnud/
10.2 | UyuwuwpyiwG ydwp /mhuntin L gnpownpltpn hpuwwlugibin
hGwpuwynpmpjudp/
o NtghntiGn hwdwhunpnGtphG 0 X< npud
e (15 nighntin hwdwhunpnGephG 100 000 << npwd /nwpblwl/
10.3| UhwjG nhutint hGwpuwynpnipjuwdp dhwgiwl b ugquuwpydwl ydwnp
e NtghntGun hwdwjunpnGhphG 0 X< npud
e (15 ntighntiGun hwdwjunpyGtphG 0 X< npud
10.4| Lpwgnighs qunuGwpwn ghGipwglng uwpph npudwnpnod
e Mhghntin hwdwhunpnGtphG 7 000 X< npud
e 15 ntighntiin hwdwunpnGhphG 7 000 << npud
10.5| QGunubupwn qlGtpuginng vwpph mpuwdwnpmud’ YnpgGhne fud JGuubne 7 000 << npud

Lwpnid
11. JwnpluyhG qnpownimpiniGibp

11.1| dhlGwluwynpiwb qnpohpltip mpuiwnpbint hhiGwlwl wwjdwlwagph 50 000 << npud
lyGpvwi L dunijnh bpupwéqiwi uwyuuwpyiwi yGup!'!

11.2| dwpluyhG yupuwynpnipjniGGtph ypwptipjug nkntliwlph npudwungpnud 3000 << npud
(Ghpwnjuy UUL)

11.3| dwpyuwyhG qoh Ytpwpbpjw) mbntijuiph mpudwnpmy’ dpgntjphG 50 000 X< npuni

dwulGwyghnt Gywunwlyny (Ghpunju) TUL)

Lwdwdw)lnpjul npuiunpnud (Gepunju TUL).

e gnuyh wnwpyuwjh yupdwuimpjul hwiwdwjlGnipjni

¢ gnuyh wnwplyuwjh utithwlwGwwntiptph thnthnfunipyuG
hwiwdw)lnpjmb

o gnuyh wnwplyuwjh hwugbh thnthnfunipjwG hwdwdw)GngpjmG

e gnuyh wnwpyul wnwGdhG shwynpltiph pudwGtnt hwdwéw)GnipyniG

e gqpuyh wnwpyujh Gundwdp wj mhyh yhn. gpulgnd juwmwptnt
hwidwdw)GnipnitG

10 000 << npwd (Jnipupwlsyniph nhupnid)

{wiwdw)inpjul mpudwnpmy (Gepunju; UUL).

e gnuyh wnwpyuwjh yhnhwdwpwlhph thnthnfunipymG

e gpuyh wowplugh (mpwGuynpuowjhG Shengh) << L UL vwhiwGGbphg
nnipu quint hwdwdw)Gnipjn G

e mbtifuGhywlwl widGwgptpnud hnthnfunipjnil

10 000 << npwd (Jnipupwlsyniph nhupnid)

Q-nuwyh wnwplw hwlnhuwgnn qniypp gqpuyhg wquuntint Yyapwpbpyjug
qpnipjwl jud gpuyh wnwplyw hwGnhuwgnn qnyyptiph dwuny
hwdwdw)lmpniGGtph YpylGophGwlyh mpuwdwnpnid

10 000 << npuud

Jwpyh/Jupluighl qoh wwydwGGph YapwGwymd (Ghnthnfunipym6)!?

Yunyh/Jwplwjhb qoh dGwgnpnh 0.2%-h swihny, GJuwqugnGp’
50 000 << npuid, wnwykjwgniGp’ 5 000 000 << npuid

Jwpyh/Jupyujpl qoh duniybnmp thnthnfunipymG’

o UhGsL 6 wihu duniytunny tpupudquub nhypnid

Junyh/dwnluhG qdh §Gwgnph 0.5%-h suihng

e 7-12 wihu dwiltunny tpjupwdquub nhupnud

Yupyh/Jwpywihl goh dGwgnpgh 1%-h swihng

e 13-36 wihu dwilytinny tpupwdguu nhupnid

Yupyh/Jwpywihl goh dGwgnpgh 2%-h swihng

11.9

Pwlyh hwdwdw)lnpjul nhypmy Jupyh/JuplujhG qoh
wywhnyyuonipjul shengh thnthnfunipymG. (Ghpwnjuw) TUL)

30 000 << npuid
(nipwpwGyynip wwywhnyyuwonipjul
dhongh thnthnjunipjw hwdwnp)

- gpuyh wnwpyuwl wnwe Gwljwpg gpuyny thnthnfubtijne nhiwypnid 0 X< npud
11.10| PwGyh hwiwdw)Gmpjwl nhypnd Lwdwiunpnh nhintdh hhdw Yypw
Jupyujhl wuwjdwiwgnny Gupupwnbu]wd wiuwwl dwpndGhph optiph 10 000 << npud

thnthnfunipyniG

1 Ywlpughtn sh Ghpwngnnd dhlsh 30,000,000 (bpliunil dhphng) << ppudh u hudupdbp w
wudwGwgph lptwl L dwdllnh bplumudquw G nhuypnod:
"2 wpyp/iwpluiil gop wwydwGGph JlpuGuymd Gmpinfunpymd) b6 hudwpynd” ungnuanpngptph inginf

plpuwgpnud wy

indniph swiing dhlGwluunnpdwl gnpohplbn wy

f; ,]7[7[171 L‘l. i/
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iy o Jwoh mpwwnpnidp:

pyniGGEpp, Juplfy/juplwihl 9ok qnponnmpjul



1111 Uwpwd, wpfuhjuguo qupybph, gpudh wnwplulbph Jepuptppug
wmbtntywlph mpwiwnpmy (Gepunjuw) UUL) 5000 << npud
11.12| PwGyh hwiwdw)impjub nhiwypnud gpujunpyuo wlywnd qnijph hwughinud 5000 << npud
pGunwGhph wlnwih hwpguend jud hwpjunqwd widh hw)jwunniihg
hw(nud (Ghpwnju) UUL)
11.13| dwnpyp/sybpujubqlynn yunpyujhl qoh yunuduiytn dwpdwl uwhdwynid £ vy Jupyunbuwh yuwydwlGipny
theGnpuiyswp'?
11.14| UGpwnpd qniyph (hhthnptiph) gpuyh hpuwynilph whmwlwl qpubgnud << junwuwnph Yndhntnd (uuljughlnp Gdwo b jnipupwlsynip gpugh
(hhthnptiph) hwdwp) (Ghpunjuy UUL)
11.14.1 4 wyuwwnwlpwhl opnud 30 400 << npud (GhwGywq)
Al P Gph gpustignu”puun unupduG dudh 3 i o 20400 £ (i
1 wpluwwmwGpwjhl opnud 155 400 << npwd (hwlqugq)
11.14.2 Gnwynnud wwjdwlwgnptipny hpwyniph yhnwlwb gpubignid puwn g $§rruu$$$g§$jlﬁg ggﬂtg 1;55 ::(())(()) jj $$§ égﬁll;lgllllllllllz)
Yunwpdw@ dwdtntpp 2 wpfuwwnwGpwjhl opnid 175,400 << npwd (thwlqugq)
11143 G-pwyh hpwyniGph nqunupbgnid pun juumwpdwl dwdybnh % $§rmu$$$g§$jlﬁg ggﬁtg 13 ;gg :2 ﬁig Eg?ﬁigﬁﬁg;
1.14.4 Uwhdw GwihwlnuGhph Jhpuptpguy ShwubGuipw winblwiph unwgnod’ 3 wpfuwnwpuijh opnud 14,200 <3 npud ((hwjug)
2 wpuwwnwGpwjhl opnid 24,200 << npuid (Ghwljwg)
puwn junupiw dudltnGeph 1 wfuwnwlipugh opnud 64,200 22 nud (ShwGwa)
11.14.5| Q-pwydh yywywlwlh vnwgnud 0 << npud
12. GnpownimpymGGLN uuumhy pupmbnny
12.1| MasterCard, VISA International Lwnwntn MC Business, Visa-UwpuwyhG pupn
MC Business (wnwg (wnw g hupiwG)
hupiw )
Visa Business (wnwig
hupiwG)
12.1.1| Lwpmh pnnupynid 0 << npud 0 << npud
12.1.2| Lwpwh wpdnypp X< ppuud Jud X< puud Jud
UUL nnpup Jud UUL nnpup Jud
Gipn Gud Gipn
09 nnipth 09 nnipth
12.1.3| Lwpwnh punwy pnnupynid 5000 << npud 5000 << npud
(1 pwGywhG opgw plpwgpnid)
12.1.4| LwpnwyhG hw)yh pugnid b Jupnud 0 << npud 0 << npud
12.1.5| Lwpuh vyuuwnpydwl mwptiwb Jdwnp 10 000 << npud 10 000 << npud
12.1.6| PIN Ynnh unwgnid /dbl{wugudjw PIN Ynnp sms-ny unwuwint nbiypnid
umui;&, qlu'(?éqnu] tuplur?mnj e ! e 0 << npwd 0 << nnwd
npwdwnpbihu/ PIN Ynnp PIN dpwpny utnwuwint 1000 << npwd 1000 << npwd
nbwpnid
12.1.7| Lwpwnh gnponnmpjul dwiljtinn 5 mmuph 5 wmwph
12.1.8| Yhg pupwuh mpudwnpnod 0 << npud Qh mpuiwnpynid
12.1.9| YUhg pupwnh ugquuwpliwbd nuptiub Jawn 5000 << nnud -
12.1.10| “Faplunuwghl puymnh sGjuwgnn dGwgnpn puwpufp hdGuwlul wpdnypnyg
o < npuuidny pwpwnwjhG hwpyh nhiypnud 0 << npud 0 << npud
o UUL nnpupny pwpwwjhG hwyyh nhypnud 0 UUL nnyup 0 UUL nnjun
e Gynnyny pwpwuwjhG hw)yh nhiypnud 0 Gypn 0 Gypn
e (1 nnipiny puwpwnwjhG hw)yh nhiwypnid 0 (% nnipth 0 9% nnipih
12.1.11 | dwpluwjhl pumnbn
o JwplyuwjhG pwpntbph sGJugnn dGugnnpn 0 << npud 0 << npud
o Jwpluwjhb qoh pwgiwl hGupwynpnipjnib Spwiwnpynd k Spwdwnpynud £
e Pugynn yupyuwjhG qoh wnwybjugniyG uwhdwlwywth wnwybjugneyGp 10 46 << wnwybjugneyGp 80 ¥G <<
npwy jud hwiwpdbp nnwy jud hwiwnpdtp
wpuwnpdnyp wpuwnpdnyp
o Spwiwnmnn JunpYuwjhG qoh nhdwg hwytgpynn mupbiuwl 15%-19% (Jugq. 12%
wijwlwlywl mnynuwnpniypp
e Snynulitiph hwygwpyiw6 wpnnbyuwy dwdytin sh Yhpwnynud sh Yhpwnynud
12.1.12 | Lwpuughl hwpyhl wnlw gl dGugnpnhl hwpdbopnyng unupbluw G imnnuwnpngp
o << npud 1% Qh Yhpwnynui
e UUL nmun 0.01% Qh Yhpwnynid
e Gypn 0.01% Qh Yhpwnynui
e [} nnipth 0.01% Qh Yhpwnynid
12.1.13 | Lwpwp ypyGwuyh mpuwiwnpmad Gnyyl gnponnnipjul
dwiwuwwhwwnywony, pwpuh YGwudw, Ynpunmh L (Gud) pupmh 5000 << npud 5000 << npud
wyjwyltipp 3-pn wGdwlg hwyjmGh nuniwym nhupnid
12.1.14| SMS dwnwynpjwl shugmd (Ghpwnyuy TUL) M 0 << npud 0 << npuud
12.1.15| ddwp jnipupwbsgynp unwgyuwd SMS-h hwdwn (Ghpwnyw; TUL)
- &4 L UL poowjhl owybpwwnnpltnh htinwhuinuwhwiwplGbph nhypnud 0 X< npud 0 << npud
- wy) tpypGtph pe9wiyhG owtipunnpGiph htnwunuwhwiwnpGbph 100 << npund 100 << npud
nhiypnuy’®
12.1.16 | Lwpuwjhl hwpyh hwiwipmd (uGfuhy dthengGtph dninpwgpniy) 0 X< npud 0 << npud
12.1.17| LwpumwjhG hwydh pwnjudph npudwnpoid 0 X< npud 0 << npud
12.1.18 | Lwpuwjhl hwpyh jpugnighs punyuoph npuiwnpnud (Ghpwnju; UUL) 0 << npud 0 << npud

B Uwlughlp Jbpupbpnud Fo18.09.19p.hg upwdwnpyng Juplbphl/sdbpulubeling Jupluhl qotpht, puguempjudp’ opugpuyhl nbunpulbpm] npudwnming
ywpybph L Juplhughl Qotph, «@npp b dhopl dbntGuwplumppmpul whuwlwl wowlgmpuul dwuply << opllpny L «Uyy qulpul Gpbguudnpiwl dwuply <<
oplilipmy Guifuunnbujwo phuypbph L sunpliph, flsybu Gul Juplbph/sybpululebyng JupluyhlG gotph’ Pulhh wwhwGony Jumudwdtn dwpdwb nhupbph:

4 SMS ownuympyul dhwgnidp wuy nfin b popnn puy Yy Lph hudwp wiymwlqmpjul GluuwnenidGhphg b Ghmy:

¥ Uninwuwhdwlpud poowihl owl nGlph hbnwf hwdwplGbph hwdwp wwlpughn Ghpwngnd F01.09.201 7p.-hg htiun:




12.1.19

UheGnpnwydwn pwpwuny pwlyh pwGyndwwmbtphg yuwluhyh mpudwnpiwi

hwiwnp

o ¢ npnud 0.5% Qh pnyjunpymuy!’
12.1.20| UhgGnpnwy&wp pwpunny pwGyh Julfuhjugdwl Yhnbtphg POS terminal-
ny JuGuhyh wpudwnpiwl hwiwp
e < npud 0.5% Oh pnyjpunpym?’
e wj] wquw thnfuwnpybh wpnwpdniyp 3% Qh pnyjpunpymy?’
12.1.21| Uh9Gnpnwydwp pwpwwjhG hw)yhl wnlw dhongGtipp wnwlg pwpwh JuGfuhyugitine hwiwnp
(Ywpluht pupnbpny pupmw;hG hwpyhg wowehl wlquid jubfupl Eipwepmdlbpp ppuhwlugynid b6 pug ybu wpuunhly pupunh dhongny)
o X< npud 1% Qh pnyjjuunpynud
e wj] wquw thnfuwnpybh wpmnwpdniyp 3% Qh pnyjunpynud
12.1.22| UhgGnpnwydwp UpLw hwidwlwpgh wj pwlybtph uGuhjugdiwb Yntphg jubuhjugiwl hwdwnp
o X< npud 1% Qh poyyjuunpynud
e wj] wquw thnfuwnpybh wpwnwpdniyp 3% Qh pnyjunnpynud
12.1.23 | UhoGnpnwydwp wpnwuwhdwGjwl pwGytph pwiyniwwmbtphg L jubuhugiwb Yhntphg Yulfuhugdwl hwdwp
e wj] wquw thnfuwnpybh wpwnwpdniyp | 3% | Qh pnyjunpynud
12.1.24| Lwpwunhg pwpun thnfuwbgnid hGuntiplGinny b pwGyniwwmny
e nhiptinwjhG pwpmbtiph hwiwp 1% Qh pnyjjunnpynid
e JuplyuwjhlG pwpnbtph hwiwp 1% Qh pnyjjuunpymd
e wpun(jwy dwiltininy yupywjhG pwpmtiph hwiwp 1% Qh poyyjuunpynud
12.1.25| Unw(g Lupnh Yhpuntwl LupnwghG hwyyhg wiywbuhy thnfuwlgnid / thnfuwpynid / («KUSRRQLEULTLUY» OLRLY hwdwlupgniy, <
L UL wy) pwGlbp)
e phiptimwjhG pupumbtph hwdiwnp 1% Qh pnjjumnpynid
e Junpluwjhl pwpwtiph hwiwp 1 % Qh poyyjuunpynud
o wnwunljuy duwitinny yupyuwjhG pwpntinh hwiwnp 1% Qh pnyjjumnpynid
12.1.26 | hGwmbtpGtw/inpw)] pwGyhGgq hwiwlupgny wowlg pwpnh Yhpwndwl LwpumwjhG hwyhg wiywbiuhl thnfuwlgnd / thnfuwpynnd/
(«LU3LhQLEULULUY ®LL  hudwlwpgnud, X< L UL wy) pwytip)
o << npuiiny pwpwwjhG hwpgh nhiwypnud 0% Qh poyjjuunpynud
o UUL nnpupny pwpunwyhG hwpyh nhiygpnd (X< UL dhongny) 0.1%, Guquqny) (1[1‘ 5000 <<
npwy, wnwybjugnt) ﬁn‘ Qh poyjjuunpynud
20 000 &< npud
e Gypnyny pwpuwjhG hwpyh nhiypnd (XL UL thongny) 0.1%, Guquqni)Gp 5 000 <<
npwy, wnwybjugnt) ﬁn‘ Qh pnyjjumpynid
20 000 << npuid
o (1) nnipiny pwpunwjhG hwpyh nhypnwd Qh poyyjuunpynud Qh poyjjuunpynud
12.1.27 inpwydwp wGlw b npnownp it wljwlwgiwbi hwudw
?ul’fhmﬂ?p gosl;upgpauﬂ&)q rowrpAtn g ' 0 <& npud 9 poyjpunpynd
12.1.28 | Unw(g pwpwnh fhpuntw LwpnwihG hwpyhg wilwGfuhly hwdwaw;G un@
thnfuwGgniiGtp wpnmbpyhp, wyn pynid Gub hGunbplGw/dnpwy puyhlq QOh pnyjuwunnpynud
hwdwlwpgny uwlwqltiph 2.2.4.1 Ytwnh
12.1.29| OpwywG gnpownlmpjwl wnwytjugn)G gniiwnp (oGjw)i hwjwunwgpynn nhiptinnwjhG gnpowppltp, puguwnmpjudp puwGyh
qnpownlwlwl hwiwlwpgnud juwwpyny gnpowppGhph)
e << npuing pwpuwjhl hwyh nhypnud 4 000 000 << npud 80 000 000 << g
o UUL nmunny pwpuwghG hwpyh nhupnid 9 000 UU'L nnjun 160 000 UUL nnjup
¢ Gypnjny pupuwghG hwayh nhiypnud 8 000 Gypn 150 000 Gypn
o (1) nnipiny pwpunwjhG hwpyh nhypnud 500 000 - nnipth 12 000 000 ) nnipth
12.1.30| Bnipwpwbyjnip yubfuhy gnpownGnpjul wnwytjugni)G gnudwnpp (pupwh vhengny pwyniwwnny Juwltuhih uvnwgiwb qnpowppGtph
hwdwnp)
o << npuiiny pupuwjhG hwpyh nhiwypnud. 500 000 << npud 500 000 << npuid
o UUL nmunny pwpuuwjhG hwyh nhupnid 1000 WUL nnyuiphG 1000 UWUL nnjuphG
hwdwpdtip npud hwdwpdtip npud
¢ Gypnyny pwpuwjhG hwpyh niypnud 900 GypnyhG hwiwpdtp | 900 GypnyhG hwdwpdtip npud
npwyd
e [} nnipiny pwpunwhG hw)yh nhiypnud 65 000 - nnipym G -
hwiwndtip ngpud
o Opwluw gnpdwnimpjniGGtph wnwybjugnyG pwGuynp 20 20
o Ujn pynid opwluwG Yubuhy gnpdwnGmpynGGtph wnwybtjuqgne) 20 20
pwlwyn
12.1.31| UhgGnpnwy&wp YuGhuhl/wGywbhuhy qnpowntnipjul vwhdwlwswihtph
Ybpwlwydw hwiwp /opwliul gnpownlnipjul vwhdwGusuhp uwhdw Gty 1 000 << npud 0 << npoud
UhGsl hGquuwwnhy/
12.1.32| Lwpumh dmwunpwgpnuip showqqujhl STOP gwiy (14 opny vk
mmgmngp?i e howaqquijh 9wy (14 opny dky 15 000 22 npus 15 000 22 npuus
12.1.33 | Lwpwnh tpugpnuip dhowqquijhG STOP gwilyhg 0 X< npud 0 < npud
12.1.34| Lwpuh wpgbjuthwynud 0 << npud 0 << npud
12.1.35| Lwpunp wywwpgbjuthwlynd (3 wiquy ufuwy PIN 4nn hwwpbim 1000 22 ppud 1000 22 qpud
nhupnud)
12.1.36| Lwpnh wuyywwpgbjuthwlnud 0 X< npud 0 << npud
12.1.37| UhgGnpnuy&wp jnipupwlsjnip wGhhiG pnnnpuplynn qnpownph hwdwn
htimquGadiwb ntiypnid
- Uppw hwiwljwpgh welanpujhl uwjuwuwnplyiwd Yenbpnod L
PwyniwnGlipnad junwpgwd gnpownppGtiph nbupmd - 1000 << npud - 1000 <& npuid
- Uy pwGytiph wnlnpwyhG uyuwuwpydwl Yintpmd b pulGyndwnGbpnod - 25 UU'L nnjwphG - 25 UUL nnjuphG

Jquuwpywo gnpowppltph nhiypnud

hwdwpdtip npud

hwdwpdtip npud

% QUSRPQULEULU LU DLL hwdwlpupgmiyf hnlywy gnpowppblph hwdwp pupmuhlG huphg ginfuwbgdng quudupGiph hwdwnp vwlughl sh quGdynid.
v KUBLPALEULULYY OLL-mu dwdlliunuhl wywly Geppllm Guumwling,
v «U3LPQUEULU LYY OLL-mu wupumuwynpmpym G6Lph dwpiwl Guunwlnyg,
V' Lupmnp hwlpfw G wppymbpnd sbywqnn dhugnpph JEpunupd Jwd dhgnglGlph mbnuinfunid «SUSLPQLEULU LYY QLL Gnp pupmnuhl huipghd,

Yuwpluyghl nwhdw Guisuping puipunf o

quinid inp puy
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VR S

hli pugiwd JupljuhG dhongGhpp nbnuianfu

I Guif

i} Yrpluypli goh

0 hwdfwp:




12.1.38| Lwpwuh thwlymy 0 << npud 0 <2< npud
13. Uj1 dwnwympniGGbp \ \
13.1] 4L UL wpnwpdnyplbph hinfuwpdtipGtiph yepwpbpjw) mbnbynipjw 6 mpudwnpnud 0 << npud
13.2| Qbnwwwwdk wpmbtpyhp, 1 Eop (Ghpunju) TUL) 3 000 << npud
13.3| ®nuunny wpwpnd (Ghpuwnjw) UUL)
e DHL (8h6sk 150 qp.) 40 000 <<
o unynpuw@ thnunny (GhGsk 150 gqp.) 1 000 << npud
13.4| PwllwjhG funphppuwmyuiwl dwnwjnipniGGbp MNuwjdwlwgnpuyhG
13.5| Qpwiwlub dshonglGtph (wpdbpltph) mtnuihnfund (hGuwuwghw) NuwjdwlwgpujhG

13.6 | Upwiwpdnijph thnfuwpynud.

o (tppwlywjhG

Pwllyh witlopjw thnfuwpdtp

e thopwllywjhG

MNuwjdwlwqgpuyhl

13.7| Mbnmwlywl ntighunph LaiupnGujhl hwdwlwpghg hwpgnud ppujuGugibm ownwjnipniG

Snipupuiligynip thwumwpnph hwiwp
5000 &< npud

13.8| Pwpépwlwpg upwhni uywuwpyiwd yswp ¥’

50 000 << i (mwpblw()

Pwlh Ynnihg vwnnigywd dwewympntGGtph nghiwg vwljmqbpp quidymy GG thuy6 4< npuadiny:

Ywiujwd Pwlymy gnponn Unpuynpwnpy hwdwjunpyibph nquuwljuwpgiwb uyqpmbpGhphg’ {wdwiunnnGhphG Ywpnn 66 wowewplyby wyp uwlwqbGhp:
Unw(dh6 {wswiunpnbhph hwiwp wy) vwiwgGtph vwhiwGond@ hpuluwugynd b huiwduy( wuydmGuanh:

Unyy6 uvwljwaqbtnn Jpuptnnid 6 {wdwiunpnh Yonshg hpwiwGwugynn unwlgupn qnpoweGnpjnGahphG: Lomnp wyl nhwptpow, tpp qupoéwntnp jub
hnwyuwGugiwl hwiwnp pnpwlhg pwlyp Ywy gnpodwnimpjul vuquwuwpyiwlp Swubwlhg SheGnpn pwbyp (pugmghs the Gnpnudwph Yewpdwa
wwhw(y t Ganlwymg ot Yund quGdmy PwGlhg, JtpghGu hpwnibp t Yepwupuwhmd rugmghs qudty wiyn dsheGnpyunjdupp {wdwjunmmh hwyghg

1 nnui6 Gpw Ynndhg wpnti6 YSwpdud v Grupm dheGopnun]wnh:

‘Lhinyuwjwgdwo vwywaqbbpn, gumypahpn b SwnwympimGitph gwayp duiwiuyh pipwgpmy Jwpny 66 thmhnfuyty, hsh SwuhG {wdwlunpnibpn
Yhpugtyytl AuGymy wejw mtntjuwmn SwunwympniGhg, Wudn hpwuwpuymiGbnhg ud quiqiuéwghi wy nuumywshengGtphg:

7 Ulqwuw]]l]liwﬁ yawpp sh vnupuoynid PwGih A nuup hwowfunpnGbph L Guubg htn hnfuljunywgywo widwbg, hlswhu Gul 20.000.000 << ppud uid gmul
ipndbp wpuwpdnypny dwdimwhl ud guuhwle wijwly nibGhgnn hudwfunppGhph ypw L 20.000.000 << g ud gpul hadwpdbp wpowpdngpny puGlughi

hwgl[]z Up9hti of .', u"[iwgnjul SupwlughG upwopny/ niGbgnn nbghnbln Gnpuny 1y hwawfunpnlhph Jpw:




